oo = == == ==[1[]

dooooooogdggdg20eb 00 0ddddiooooogodg
000

goo:

OO0 : 2016/1/21 16:58:15

000000000000 0105010200 000 0105020002500 0O O0O
0000000000000 00o00o0d00o00odDoU0o0000d0oo0oO0ooOogn?20020
J00000d0000o00ooU0o0od0oo0odoo0ooo0oooooooooonoooon
J00000d000000o0U0o00odoo0o0oo0ooo0ooooOdooooonoooon
OO|SERH00000ooouooooooooog

00060 0000000000000 @O05)01025001030000000000022000
0497000000014000000

Joooooodoo
(OHhoooooooooOhooDoooDoooOooboooOOooDoooboooeobooo

0 01050 10 280 (0 )13:300 17:000

0 01050 10 290 (O )09:0000 12:000

(0)H)OOODO: 105010300 (0)9:00015:00 ( 0D OO0 0)O

0000000000000 00o0oooo0o0o00oooooooooooodnOnOO2016
0000000000000 0O: https://twsf.ntsec.gov. tw/index.aspx?lang=10

http://163.30.202.2 2024/5/19 10:31:12 - 1


https://twsf.ntsec.gov.tw/index.aspx?lang=1�C
http://163.30.202.2
mailto:mis@yajh.tyc.edu.tw

